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" (%il) f:2-abs(x):;
plﬂtEd{f,iK,-E,E]]E

(%01) 2-|x|

7 (%135) declare(n,integer)$
an:ratsimp(integrate(f*cos(%pi*n*x/2),x,0,2)};
af:(1/2)*integrate(f,x,0,2);
makelist(substitute(n=k,an),k,1,3);
ad+sum(substitute(n=k,an)*cos(k*%pi*x/2),K,1,3);
append([T],makelist(

af+sum(substitute(n=k,an*cos(n*%spi*x/2)),k,1,3).3.[0,1,3]1))%
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u:sin(3*%spi*x/L)*cos(c*3*%pi*t/L);
diff(diff(u,t), t)-c"2*difFf(difT(u,x),x);
substitute(t=0,u};
substitute(t=0,diff(u,t));
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Ur23-(2/5%3)*sin{3*t ) *r"3;
diff(diff(u,r),r)+l/r*diff(u, r)+1/r"2*%diff{diff{u,t),t);
substitute(r=5,u);
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